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The way to find the average of a regularly alternating voltage is called the root mean square. The AC rms values are equivalent to the constant DC values that would 
dissipate the same power.

     
  

  
   

     
  

  
   

The reason for using the rms values for AC current and voltage is that power consumption doesn't depend on the peak voltage (and peak current); rather, it depends 
on the rms values, since they are an average.

               
   

    
 

 
    

If a resistor is connected to an AC supply, the following relationship holds:
          
      

This relationship shows that  and  are proportional to each other and in phase. In AC circuits there are components called capacitors and inductors which change the 
phase relationship between  and  .

RMS
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If the switch is moved to position A, the capacitor will charge. After the capacitor has charged, moving the switch to B the capacitor will discharge through the resistor  .

When the switch is moved to A, the charge on the capacitor plates will increase. In Figure 11.38 the current is clockwise, meaning that the current is counter-clockwise. This 
makes the bottom plate negative. The potential difference across the capcaitor plates will become equal to the emf  of the battery.

Three types of graphs:
q vs t

V vs t

I vs t

Charging a capacitor
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